om./B.B.A. DEGREE EXAMINATION, NOVEMRBER 2016

(CUCBCSS—UG)

A 11-BASIC NUMERICAL SKILLS

THIRD SEMESTER B.C

COM . 80 Maris
FAC -

Time : Three Hours :
Part I

Answér all questions.
/LA series is obtained by adding a conStgnl number to its preceding terT 157 :

(@) GP. /r’ (b) AP.
() GP.orAP. ‘ - {d) None.
\&2. Which of the followmg measure is based on all the obgervations ? :
N~(a) AM. (b GM.
(e) H.M. ) Al
\« 8. Which measure ensures h1ghest degree of rehabzhty ?
‘\(a) Range. 7 “(b) MD.
(o 8D e S () QDL

~4- Circle diagram is also called : ‘
; (b) Cartogram.

| (d) None.

(a) Pictogram.
<=(c) Pie diagram. 7
. index is known as the ‘ideal’ index. : A
Ak . (b) Passche’s.

(c) -Fisher’s « (d) Kelley’s. . i
Z—S. Example of probability sampling is : = e
.- ~ (a) Quota sanipling. ™\(b) Judgement sampling.

~~(a) Laspeyre’s.

(c) Convenience sampling. ~(d) None.
\7. One common diﬁ'érence of the AP.1,-1,-3,-5, ' 182
' @)~ 30 vt e : () -1
~=(c) -2 ’ (d) 2,

Turn over
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. When A = {a, b}, its powe
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-or Set has —— elements,

@ 2. (b) 8. Clenl LB I L L R 15
© 1. \\(d) 4. -
\ 9. Statistics deals with:
{2) Qualitative data- Nb) Quantxtatlve data.
(¢) Both. (GY) None of these. : b ] ":g‘,; )
N.10. A time series is a set of values arranged jn order.
() Ascending. ~ : (b) Descending.
(c) Chronological. (d) None. : ;
| (10 x 1 = 10 marks)
Part IT (Short Answer Questions) i
Answer any eight questions.
™=11. Whatis power set ? ,
12. What is a pie-diagram ? o®
/13. “What is progression ? A R e \ '?T'
‘ : - 6N +‘ o) 4
fLi. What do you understand by class%ﬁcation of data ? . B / "t‘_\ \ A
_«15. Define matrix. S > o Ol
7 Ty 2 C LA Q/ = Dol ¥
2}6. Represent A= bEE is an integer, 2% <4} in roster formivr \/ ;
17. Find mode from the following data : 2

18.
10,

ot

8 10 124 29 35 40 46

=~ Size g 5 : | ‘
. No.of items : 3 12 .25 @ 31 20 18 7 Aa\o
~ 7S
P+2, 4P 6, 3P — 2 are three consecutive terms of an A.P. Find the value of P. : \; e
Q

Solve : 3t+3 1 _53\&«,;9 3’1/‘:* == 9 =+ = q/

Find the compound interest earned on Rs 100 invested for two years at O‘}Scompounded

semiannually. 9. \w - (O
. oo ('
<W (O 0 (4 /00(8 x 2 = 16 marks)

Part III (Short Essays)

Answer any six questions.

- Define primary data. State the various methods of collecting primary data.

The third term of a GP j5 4. Fipg the product of its first 5 terms. s

N~ Yy
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A 23. Calculate median for the following data :
: Class . 05 5-10 10-15 15-20 20-25 :
Frequency : 5 10 15 12 8 e ,J”fg’“ Xy
» : ster an A
\_24. Consider the statement : “Integers between — 3 and 3 . Write the 10 d set builder forms. b ;
=25, Solve5y+y-30 )93_30:0 ’b""hl-..m )/&
26. Draw the less- gan ogu.e of the following frequency distribution and locate the median u\are
(7 from : (( | ‘ ' ';,r?
Marks \" \0- 10 10-20 20-30 30-40 40-50 50-60 60-70 _
No. of students 4 8 11 15 12 6 3

/.".’-7 . In Mumbai city, there are 1000 families. A survey mdxcated that 30 300 subscribe t,o “The Hindus
Times' daily newspaper and 250 ubscribe to ‘The Indian Express daxly newspaper. Of these t,wo
categories, lg&mlg.l_gm Express the data using Venn diagram.

28. A man travelled from one place to another at the rate of _’Mour and returned at the l‘ate of
30 kms/hour. Find the average speed in the whole journey.

e

, * (6x4=24marks)
Part IV (Long Essays) ¢ —v ,
Answer any two §uestions. ‘

‘?9. From tbe following data find the trend values by 5 yearly movin ___g averages !

. N

Year e 2000 2001 2002 2003 2004 2005 2006 2007 2
Sales : 36 43 43 34 44 54 34 24 14
"y In an election 72,000 votes were casted. OgLQf_[oLcandxdates the first got 24,000 votes. the
- second got 20,000 votes, the third got 18, 000 votes and the fourth got 10 w—“l-]”rlw a
~ piechart for these data. R e e o :

~31. Find the inverse of a matrix A given by : FI:\V(
+ P
5 -2
A= 2 5 i
i

h

Y
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THIRD SEMESTER B.Com./B.B.A. DEGREE EXAMINATION, NOVEMBFR 2016
(CUCBCSS—UG) —
- Common Courge
A 11—BASIC NUMERICAL SKILLS
(Multiple Choice Questions for SDE Candidates)

* Maximum : 20 Marks

Time : 15 Minutes Total No. of Questions: 20 -

INSTRUCTIONS TO THE CANDIDATE
i b This Questton Paper carries Multlple Choice Questlons from 1 to 20

- 2. The candidate should check that the questlon paper supphed to him/her contains all the
20 questions in serial order.. - BT o : :
3. Each question is provided with choices (A), V(B‘) ©) and (D) having one correct answer.
' Choose the correct answer and enter it in the main anSWer—book
4. The MCQ question paper will be supphed after the completlon of the descnptlve

exammatlon
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A 11—BASIC NUMERICAL SKILLS
Choice Questlons for SDE Candldates) ' {5 i

b T o
-

(Mu:ltiple

A time series is unable to adjust the influences like ::

\\1\

. (A) Customs and policy changés. $5E (B) : Seasonal c_hangeSi :

(C) Long term influences. _ " (D) 'Non‘é‘.(')'f :fhese

Index i is based on the pnce and quantltles of both base year and current year

A Paasches. B \(B) Laspeyers.‘ e
(C) Fishers. e (D) Noneofthese%- ~' e e
\3. Measures of central tendency are called averages ofthe ——oriler _.,
(A) First. o 4 ‘ \B) Second L e ] ‘
(C) Third.

& — o callod posibional ,;le'asu;;"‘ S &
&! (&) Mean i : (B) Medlan | '1:3‘.‘;_. , ¥ l |
: \(C) Mode. : o (D) Harmomc maarx : e s
5. Index numher for the base penod 1s always taken as: et
(A) 200. . ' (B) 50
@ A T IR G IR i
6. Dividod bar chart s cumadered 5. - Be o ko U S,

(A) Comparing different components of a variabie

(B) The relahon of different compOnentS to the total,
© (A)or (B).

\(D) (A) and (B)

(B) Class mterva]s
(D) Area. 5o
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oo R Bl T el | :

In direct personal investigation, the investigator should be o ol e g A, T e i
(A) Biased. , (B) Tactful. e ;‘
C) Optimistic. B e (D) Allthese. .

9. A smgle value whlch can represent the whole set of data is called

. "".}' i I’ v > < o~y
S het) 2R B i A L A T
\ ; . .;‘":’i Vs T B o O T

(A) Set. e ‘\ (B) . Average. SHEN S,
(C) Interest. T i %i‘ .V(D)‘ ,Matrices.‘ ge i ’lt
N 10. 4The sef:ond quartile is equal to : ; &(\/ | | s ‘ ; & k
(A) Mean. i e el Medlan. 3 T
(C) Mode. ?;;'tf". ‘ (D)‘:;,.Stand;u'd dev;atxlt‘)flﬂ-‘f ,, ‘
\_ 11. Statistical results al;e: R iy ;}’, e o ' : r sl
(A) Absolutelyc‘orre,ct.-‘ o ' (B) Nottll'ue; % g i
S aini s Tl SR it eddusolmdtiety 1 g !
- (C) True on an average. ;}/(D) Umver'sally trug.‘ g ' / o , o
\112, 'Tally'marks' determine : SR e P o ‘” N ; = '» b g
e L : b L (U B2 LSl popnad o
\(A) Class width. 5 ‘  : (B) Class bou:;dary"‘ e . 9
(C) ClassLimit. riy (D) C]ass frequcncy."
:\,S 13. Bar diagrams are : : ' o Sl ‘.
(A) One dimenéiohél,: BEEL (B) ’TWO-’, :

(C) Three. : : - (D) None of these. '
,14. The point of ‘int‘ers;ect’ion of the less than and tﬁe grezitet fhah ogives corrébspoi‘l(.ls‘to g

.' (A) Mean.'_ ,, s R (/B)' ‘Miode.

Q(C) Median, . (D) ‘Geometric Meén.
\15 In a rail accident the dpproprlate method of data collectmn is :

j i (A) Personal enqulry AEN(B) Indlrect oral mv'eéti;gationQ‘ & s

(O DirCCt Interview. (Dl)“’ All theéé.
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The difference between the maximum and the minimum observation of the given data is called
«~—16. The difference betw )

i tAY Range «(B) Mean Deviation.

(C) Quartile Deviation. (D) Standard Deviation. .

17. A time series is a set of data recorded: = .
(A) Periodically. (B) Attime intervals.
\(C) At successive points of time. (D) All the above.

. 18. Index numbers are:

~

(A) Special type of averages. - (B) VMeasmve of the economic barometers.
™\ (C) Measure of relative changes. (D) All of these.

08\

‘Q (A) A well defined section of peoplg. B) Al péople.

: e
™-39. Consumer price Index number is constructed for : A o L"/Q
(C) Factory workers only. | (D) All the abave.

\ 20. For a normial distribution, QW+Q,- 2 medisn = — |
@A 2. _ e ® 1
© 8. \ D) o.

t%
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